«llvcoMenHOe YMHOXKEHHE HA
YUCIAy OKAHYUBAIOIIHECS
HYJISAMU»



PelunTb «Leno4ky» :
48:8-3:6+46=49 QO
42:6+17:3+92=100 [

28:7+16-5-80=20 M



OETOHLUUKMN

reonoe3ncCTbl




KaMeHLUKN

OEeTOHLUMKWN

reonoe3ncCTbl




UnctonucaHue:

369




Pelwin ¢ ooObACcHeHnem




KpOBeIbLiUKW

KaMeHLUKIN

OEeTOHLUMKWN

reoge3ncCTtbl



YcroBue 3agadu:

[OnnHa — 20meTpoB
LLlnpnHa — 15meTpos
Hakpbinm - i nroLaagn




LUTYKATYypbl
Mansipbl

CTEeKOJ1bLUUKW

pOBeNbLNKN

KaMeHLUUKHN

OEeTOHLUMKN

reoaoe3ncCTbl



PelwnTb ypaBHEHUS:

1 pan 2 pag 3 pag

720 —x =90 - 2 x—470=50-10 258 +x=100"-6
720 — x =180 x —470 = 500 258 + x = 600
x=720-180 x =500 + 470 x =600 — 258
X = 540 x =970 X =342

720-540=90-2 970-470=50-10 258 + 342 = 100 - 6
180 = 180 500 = 500 600 = 600



LWITYKATYypb!
Mansipbl

CTEeKOJ1bLUUKW

“|” KpOBENbLLUKW
KaMeHLLMKN

OEeTOHLUMKWN

reonoe3ncCTbl



Ku3Hb OaHa Ha dobphie

desia.

be3 mpyda Hem nnooda.
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